Equations for ATM521
Frictionless, adiabatic equations of motion in height coordinates:
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where 
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Ideal Gas Equation:
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Thickness Equation:
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Thermal wind equation
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Frictionless, adiabatic equations of motion in pressure coordinates:
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          where 
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Thermal wind equation:
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Convective Available Potential Energy (ignoring virtual effects)
Height coordinates





Pressure coordinates
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Supporting equations for the Held and Hou (1980) model (assuming small latitudes)
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[image: image28.wmf] is the equilibrium pole-to-equator potential temperature difference
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The Earth’s radius, a = 6371km
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